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1. @ Brleﬂy cxplam the advantages and lumtatlons of

' transactmg onlmc

SA@ET (Online) A1 & N aﬁ? ‘ehﬂTq a?nsfrl

- (b) State the dlfferences and smulantles between Bnck and
Click and Purc Online Business modes
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(@) Briefly explain the factors which have contributed to the

success of an e-commerce _u:mEomm.

&
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(b) Compare and contrast in-house and oEmoc.Hon methods
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fyffaa § ¥ = & &1 9o i
(1) g (Hackers)

(i) T (Spoofing)

(iii) |HPIST (Cookies)

(iv) TARhTI (Encryption).

(a) mxm._ﬁs any three methods of e-payment.

& faedi i bt i AR

5x3=15

7

®) mMu_HE._ the concept of online shopping. What are the

w%m:ﬁmnm and limitations of online shopping? -

Ma.m_d a_a%amv % ,ﬁgﬁn & ﬁﬂﬂw_

®) U_mncmm ﬁ_..m _.ownaﬁun v—dﬁﬂ ns of _u_m_S_ m.mumga Ea

m_aoﬂon_n m_mE::nn no<m3a under H:mo_.n_m:oﬁ

Hongo_omw._gmnmanuﬂ Act, 2008.
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Or (=)
(@) Briefly explain the methods used to provide security to
the client and service proyider in order to minimise the

challenges faced by e-commerce.
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_(b) Bneﬂy state the ob_]ectlves of Informatlon Technology_
LA, 2000
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; -T_1Wnte short notes on any three

@ Dlgltal wallet

(u) Elecu'omc fund transfcr A
(i) Tags and attnbutes in I-ITML
_ (iv) Frames 111 H'I'ML .

_(v) Anchorlek tags m HTML : o i

o %ﬁmr ‘T"Ef

(i) HTML & 21 (Tags) 3

(ii) zﬁaaﬁa; a?rﬂr B‘ETI?R“T e

i (Auribut_eé)

= (iv)HTMLﬁ' EI%(Frames). 5t Gy oo
(W) HTML ¥ a% W/ﬁﬁ (Anchorlhnk tags). 3x5=15
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(2) 7763

Define HRM and discuss its features and objectives. §
HRM involves all management decisions and practices

that directly affect or influence the people who work for

the organisation. Explain. 7

mmzﬂ%imﬁa%mﬁmﬂgﬂ%mﬁ
T F fad=mT =i
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Or
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“The Human Resource Manager performs managerial as
well as operative functions.” In the light of this statement

explain the role of HR manager. 8

Critically &mn:_mm the various sources of recruitment. 7
“Oe GHY Yo, U TE yeleE s
1 froafed & 31" 3@ woF &y § AEE
YA WEYE F1 qfiR w SRe S

(@) ot & fafv= adl #1 sreeAeRs faa= sifew
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(a)

(b)

(=)

(@)

(@)

(b)

(3 7763
Discuss the significance of employment tests. Discuss
any three types of employment tests commonly used in

an industry. : 8

What do you understand by placement ? Distinguish

between placement and induction, 7

IR Temsl & wew w1 fod=m #ifa) sam

H HH=A: T Tl e e 5 Iemr whasit

F fadem Wi

T (TrgHe) ¥ AT F gHeE § 2 T ol

HMHA H SR SRy |
Or

(3reram)

Define Human Resource Planning. Describe its

characteristics, objectives and limitations. 8

“The human resource of a firm can be a source of
competitive advantage.” Explain the statement with

examples. 7

P.T.O.
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Briefly explain the significance of training to both
employers and employees. Why is on-the-job training

method preferred over off-the-job training ? 8

Differentiate between sensitivity training and role-
playing. How is role playing useful in management
development in the present era of globalisation and
liberalisation ? 7
frermedt ofr =i <91 1 gfnem 23 & e
H1 949 § e FifGU| = SR R R StE
T TEd §U TIYTET0T 1 ST | ae widieror ¥ s
& W T 2
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(b)

G5 ) 7763

Or
(i)

Distinguish between performance appraisal and potential
appraisal. Critically examine the MBO approach in modern

organisations. 8

Explain with an example the concept of payband

compensation system. What are its merits ? 7
foTe Heais SR G Jedid § S Famet |
Y el § MBO TUMTH i SAG=ARHSE S
it |

Uoig Fiayfd 95 @ HHeddl i IR THT
e SIS | 3Rt favmad = E 2

Job evaluation determines the worth of the job and not
the job-holder. Comment. Explain any swo techniques of

Jjob-evaluation. 8

What is the rationale behind offering financial incentives
to employees ? How will you formulate a good incentive

'scheme ? 7

PT.O.
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Or
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(@@ Why is it important for an organisation to care for

employees health ? 8

(b))  What do you mean by HR audit ? Explain its objectives,

benefits and limitations. 7

(F) 1A & fay 3T HHIEl & W S S@yTd
HE F e B T ?

ﬁﬁvaﬁﬁﬁﬁg-ﬁﬁﬂﬁzﬁqﬁﬂwm ?
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Briefly explain the emerging issues and challenges in HRM in
the 21st century. ‘ 15
spImEl Wel W HRM A IEG HE SR gAfadl
& # e st

Or

(3t7=m)

Mr., Swami is a senior m:ﬁmﬁ&moq in an electric department of
a company. He served the company for nearly 25 years with
flawless career Rno,a. Unfortunately there was an accident in
the department causing death of one attendant. Management
investigated the incidence and aEa Mr. Swami responsible for
accident. His services were terminated holding payment of his
gratuity and other benefits. Mr. Swami feels that he is c.a:m:w

treated and Union agrees with him.
Answer the following questions on the basis of the above case
study :

(1)  Would such action on the part of management be

justified ?

P.L.O.
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- () What would be your opinion and advice on this

7763

matter ? : 15
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1. (a) WhatisPermanent Account Number (PAN) ? Is it mandatory for every person to obtain
PAN ? - 4

'(b) Rohit Verma; a citizen of India, is a renowned medical surgeon. He obtained his professional
degree from All India Institute of Medical Sciences (AIIMS) Delhi in 1996 and set up
his nursing home in Delhi in 1999. Besides practising in India he visits foreign countries
regularly in connection with his medical profession. During the previous year 2016-17
he was out of india for 180 days and during seven immediately preceding previous years

he was in India for 700 days in all.

P.TO.
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He reports the following income for previous year 2016-17 :

Income from Medical Profession in India i Rs. 12,00,000
Income from Medical Profession in Dubai Rs. 8,00,000
Dividend Income from Indian Cdmpany | . ~ Rs. 13,00.,000

Capital Gains from sale of House Property in Dubai, remitted to India  Rs. 6,00,000
Interest on Savings Account with a post office in India ~ "Rs. 13,000

Compute Rohit’s gross total income for the Assessment Year 2017-18. 7

(37) TR W §E (PAN) F ¥ ?@T‘RmﬁﬁiﬁmPANWIWW

(@)

T2

(9) e T, S 9Ra w1 AR T, 97 wfag fafee woi ¥ TEY W9 ferht st

ure faferem @eom, feet ¥ 1996 § wra &) ik AfdT @9 w9 T 1999
§ %11 wRa # Mm@ s fafeen em @ fow 9w fRet § o gma ¥
201617%%%%?%3131180&?%@@176@%%%%
T 700 T @

qﬁaﬁzomn@é’mwﬁmﬁﬂﬁiﬁﬁﬂ

e # fafecn Ao @ om 12,00,000 .

s § fafea don #t o | 8,00,000 %.
YR wefE w5 e e | | 13,00,000 %.
g 4 T wEf 9= O o, & R s ymm A 99 & 6,00,000 %.
a H e Siifthg 9 AT 9 T W= 13,000 %.
2017-18 & fruiter ad W IWHt Hea 3@ T HifT)
| Or

(37era)

Is previous year always a 12. month period ? State any fwo instances where income

of a previous year is assessed in the previous year itself. -4
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(b) Harmeet Kaur is a person of Indian orlgm settled in Canada, During the financial year

2016-17 she came to visit India on 30th September and went back to Canada on

30th March, 2017. Durmg the previous year 2015-16, she visited India for 210 days. .
- Prior to that she visited India during previous year 2008-09 for 210 days For the previous,

year 2016-17, the following was reported :

Income from a business in India 3 | i Rs. 1_2,00,000‘

. Interest on savings account with State Bank of India in India  Rs. 35,000

Net Ag,rlcu]tural Income in India - ‘ | .' - Rs. 6,00,000

Harmeet spent Rs. 12,000 on the medical treatment of her dependent brother who is

' "suffenng from blindness (100% loss of vision). Compute tax 11ab111ty of Harmeet for the
- assessment year 2017-18 assuming she is 65 years of age. 3

(m)wqﬁaﬁﬁaﬁauﬁ@%%?ﬁiﬁmﬂmaﬁuﬁaﬁﬁm_

o wd # Freifa @ @

(a)errﬁaﬁﬂ aE RN F e ¥ a‘lmﬁmﬁ%nﬁaﬁaaﬁzomw%dﬁm

30 foqer | 9E 9Ra M€ R 30 W, 2017 # Frer W) qd T 2015-16
%EﬁmWﬁzloﬁwr@wﬂ%gﬁzoesogﬁ%ﬂwﬁzloﬁ?rﬁn{é
aﬁzomwﬁﬁmﬁmﬁﬁﬁémw:-

yre # e ¥ e o 12,00,000 %
'ézﬁmaﬂ‘cﬁs%mﬁﬁﬁmﬁmmm .‘ 35,000 %.
uyRa ¥ TE HW e | 6,00,000 %

e@a%mmﬁﬁ%ﬁﬁw%(loo%qmﬁmmﬁﬁmm 12,000
% mwem%gqfﬁaeesaﬁﬁ%ﬁufmaﬁzowls%mmma
O RIS

Anshika, aged 58 years, is employed with ABC Ltd., the remuneration includes :

(1)

Basm Salary—Rs. 80,000 p.m.

(if)- Dearness Allowance——lO% of basw salary (forming part of Retlrement Beneﬁts)
(i) House Rent allowance—Rs. 24,000 p.m. (rent paid Rs. 20,000 p.m. in Delhl) |

PTO: -
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" {iv). Employer’s contribution to National Pension Scheme (NPS)—Rs. 10,000 p.m. Anshika

contributes an equal amount every month. -

(v) Motor car facility for official and prlvate use. The car, 1200 cc, (cost Rs. 7,00,000), -
is owned by Employer. Running and maintenance cost of Rs. 1,10,000 p.a. is also incurred
.by employer. Anshika pays Rs. 600 p.m. to the. employer for use of thlS facility.

(vi) The only other income of Anshika.is interest on fixed deposit—Rs. 82,000.
(vii) She pald/deposned .

(@) Tu1t10n fee of Rs. 30,000 for 2 chlldren

_ :(b) Rs. 40,000 in Sukanya Samrld_dhl Scheme

(¢) Paid mediclaim premium of Rs. 15,000 each.for herself and husband.
Compute Anshika’s tax liab_ilityfor.the Assessment Year 2017-18. g e e
sy, <6 58 W, ABC e # wrRa &, whafe wfufmm ww@
() TEE ¥a1—80,000 % W E ‘
(i) TETE W—10% HE 9a1 F (a'sﬁzmrﬁzamm%ﬁf%'w%)
Gii) & TERTET $—24,000 T. WA WE (ﬁv&ﬁ # T <X 20,000 T W HTE)

(iv) WWW(NPS)ﬁWWﬂWIOOOOF uﬁrnmaﬁsmuﬁ%
SO TR H RN @ ¥

) ﬁamﬁgﬁmmﬁaﬁﬂﬁsﬁwaﬁmﬁm1zooccﬁ%(ama'

' 7,00,000 %.) Frimn # ¥ uftarem SR TEREE @E 1,10,000 % wfq = off
frdvr @d W ¥ aﬁmwgﬁm%ﬁqﬁﬁw@rwoa uﬁrm'si?ﬁ
?l

(vi) eaﬁemﬁ = m%wnﬁtmm—szooo %.
! _(vu) g4 faan .
(aq)zaﬁ‘fﬁzqgﬁtﬁm 30,000 %.

(a)wmmﬁmmo:ﬁ
(a)aﬁmaﬂxvﬁmémﬂmmwmw

aﬁmﬁﬁuﬁmaﬁzonlsﬁmmﬂﬁaﬁmﬁml
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Or
(3team)

(a) Discuss the valuation rules for the furnished rent free accommcdat:on in case of non-

government employees. ¢ : _ : 4

() X retired on Ist October 2016 after completing 26 years and 9 months and recelved .

< . the followmg retirement benefits :

3 . () . Encashment of leave salary—Rs. 4,69,200 for unvailed leave of 306 days (He was

e entitled to a leave of 35 days for each completed year of service and no entltlement |

for part of year)
(i) Gratuity under Payment of Gratu1ty Act 1972—Rs. 9, 42 000. Before retlrement
his remuneratlon included :

(1)

e
B

(4).

Basic salary—~Rs 40,000 p.m.

Dearness allowance—25% of salary (60% part of retirement benefits)
Bonus—Rs. 5,000 p.m.

Commission—Rs. 3,000 p.m.

Compute the taxable amount of retirement benefité ie leave salary and

gratuity.

h(a)wﬁmmﬁmﬁtﬁmﬂaﬁmﬁﬁ%m@mﬁmw|

7

() X =1 a@tzolsaﬁzéawmﬁwaﬁmﬁm@aﬁqﬁwwﬁmﬁrﬁaﬁ

e %

() .@aﬁﬂmﬁw—ﬁgzooﬁ 306ﬁ?ﬁwﬁﬁ$ml(a€uﬁaﬁ
35 R W o TRF ¥ # da1 B AU gweR a@) |

(if) ﬁqﬁaﬁﬁmwn%mﬁﬁsﬂamwwzooom@aﬁqﬁrﬁ
Teol Uit oft e - |

(1)
2)
€))
@

SMYRYT Ad1—40,000 % 9 WE

TEMS N S F25% (60% @a’rﬁqﬁr % @Y & fo)
' Sas 000 TR T
FHIH—3,000 9 AR

-%mﬁqﬁrwﬁaﬁmﬁﬁthamaﬂtaqﬁ|

P.T.0.
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(@) Write'a note on exemption available under section 10(5) in respect of leave travel

(&)

concession. | ' i S 4

.X owns 2 houses First house, a commercial property was constructed on 15 10-2015

with a loan of Rs. 10,00,000 raised on 1-4-2013 @ 12% p.a. The entire loan was
repaid on 31-3-2016. This house was.let out on a monthly rent of Rs. 25,000 from
the beginning On 1-6 '2016 rent was raised to Rs. 28,000 p. m. The house remained

vacant for 3 months starting from 1 1-2017 during the previous year The other detalls

of the house are :

- Municipal\talue IEE I 5 B Rs. 2,50‘,0.0‘0 p.a.
Fair Rental value . : ' Rs. 3;12,000 p.a.
Standard rent - L - Rs. 3,00,000 -p.a.
Mhuiteibalitaxespmid. b = Rs 25000
Repatrs . ' oy Rs. 39.‘6@0

The second house is occupled by X for his own residence. This house was purchased

- on 1-1-2012 with a loan raised from SBI Housmg Fma.noe repayable in 240 equated

= monthly instalments [EMIs]. During the prevxous year 2016-1 7 X paid aggregate EMIs

of Rs. 2,83,000 which included principal amount of Rs. 80,000 and remammg
towards mterest Fair rental value of this house Rs 3,00,000 and mumcnpal taxes pald

Rs. 20,000..

L}

X also earned Iong' term capital gains on gold amounting to Rs. 3,00,000. Compute X’s
 taxable income for AY 2017-18. i oy
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(aq)-@aaaﬁamaﬂtﬁqumwm%mm@wwﬁﬁm '
(a)xa\aﬁmwﬁ%wm%@mﬁmmwﬁﬁm15102015@

_ﬁmm Gﬁqmmhooooowﬁﬁ142013ﬁ12%w%ma1‘am11m|
u;raﬁf3132016ﬁ§mmmf%mmuﬁﬁzsooo$ of e

: mﬁ R I3 fezr mam -1-6-2016@_( saet fouan 28,000 & wfa 718+ ’r‘am-w|
TwW 3 TR ® fTT1-1-2017 ¥ @l @ R o gee fe R

Wfﬂ*ﬂ’-i?q ' | 2,50,000 % wf &«
I 3‘%‘“ e 7 I. i 3,12,00'0_‘%. ot o -
uee TR ~3,00,000 % wf o
m AW 25,000 ¥. £
B | i e 30,000 %

'wmxmmmﬁmmm@m%m@wmmou |
aﬁﬁémsmmﬁﬂwﬁﬁﬁ@rmmﬁwmmﬁﬁ[EMIs] .
ﬁmm%l 2016-17 IR X I 80,000 T TEAHA T 2,83,000 . W
EMI ® &, WW mlwmmaﬁama@moooomﬁﬂmﬁw

®1 20,000 & &A1

__Xﬁmﬁm{eﬂmwwwooooz ﬁwxﬁmﬁufmaﬁzmﬂsm

lwmﬁmﬁﬁm

" PT.O:
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X and Y are partners in a law firm and share proﬁt equally. They mamtam their accounts :

_on cash basis and have prepared the followmg account for prekus year 2016 |

Payments Rs. Receipts Rs.
Rent of Office 600,000 .| Professional Receipts (16-17) 60,00,000
Salary to sta’ff 18,00,000. | Professional Receipts (15-16) 5,00,000
Ofﬁee Expenses 4,00,000 Dividends from Indian Companies . 12,00,000
Miscellaneous Elxpen'sesl 12,00,000 Proceeds from sales of laﬁd ' . '8,00,0'00
Purchase of Computers ‘ 1,00,000 |
Expenses on sale of land 20,000
Purchases of office Furniture 2,00,000
Remuneration to X - 15,00,000
-Remuneratien toY -’15,00,000' :

Donation to PMNRE 2,00,000
Bank Deposits 9,80,000 ;
Total 85,00,000 Total $5,00,000

Other information- :

() Computers were purchased on 6-10-2016 and openmg value of relevant block of plant

and machmery was Rs. 80,000 (rate of depreciation 60%).

(i) Furniture was purchased on 1-1-2017. No other furniture item was there in the block

(rate of depreciation 10%). -

(iif) Remuneration to-partners is pald as per deed of parthership and the firm has fulfilled

all condition of section 184.

(iv) Land was sold after a holding-period of 21 months and its c-o_st' of acquisition was °

Rs. 9,00,000.

- Compute tax liability of partnership firm for the AY 2017-18.

11
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xﬁRYmmﬁﬁwﬁﬂ@zﬂ%l’QMWWaﬂwmr@ﬁﬁuﬁ
aﬁ201617%mﬁmwm% -

Rk iy 3= . 5.

ya fREm | 600000 | R wheE (16:17) 50,00,000
W E 18,00,000 | TSR mﬁaﬁ (15-16) | 500000
Frfed = | 400000 | W wEfE 4 e 12,00,000
I Y : | 1200000 | 4fs & fowa & Wi | 8,00,000
FIE TR 1,00,000 ' -
yaq & fawa W = 20,000 P
- HEfEE FHE el | 200,000
X F TR P | 1500000 |
y # wRefs 15,00,000
PMNRF 1 €M | 200000 |
Em v oy 9,80,000
R & 85,00,000 Ex T 850000
Vi ‘E‘"‘T

0 6102016#?@31@'3%@@TW@IWWWMWSOOOOF
ar (fme W 60%)1 |
(i) TR %9 T T 1-1-2017, mﬁ#ﬁmﬂémwmaﬁm 10%) |
(i) v@m@mﬁmu@mﬁm@wmwaﬂzwﬁwlsm
adft wd o i .
(iv) Eﬁqwﬁmzlmﬁr@ﬁﬁaﬁmwﬁﬂﬁwmwoooos ot -
F-FAuRo a6 2017-18 & AU W@E wH &I MM HISC |
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X sells his commercial property _éituated_in Delhi on 1-6-2016 for Rs. 50,00,000. Its stamp
duty value is Rs. 54,00,000. He spent Rs. 1,00,000 in connection with the transfer of this
property. This property was acquired by him on 15-10-1979 for Rs. 2,00,000. He iricurred
Rs. 80,000 ‘during' the financial year 1980-81 and Rs. 1 ;00,000 during FY 2015-16 on the
1mpr0vement of this property. Fair market value of this property on 1-4-1981 was Rs 3,00, 000.
X utilised the net sale proceeds as follows : ) =y 11,
) - Purchased'a remdenua] house property in. Delhi for Rs 30,00,000 on 6 1-2017.

(i) Invested Rs. 10,00,000 in the bonds of National Highway Authorlty on 10-1-2017.
(7ii) Donated Rs. 1 ;00,000 to Rajiv Gandhi Foundation.

(iv) Gifted the remaining amount to his daughter.

Compute X’s tax liability assuming he has no other income ‘and was born on
31-3-1957 : ' '

FY e Cost Inflation Index
1981-82 100
-2015-16 T 1081
2016-17 et s 1125

X%mﬁaﬁmma‘rﬁﬁﬁm%ﬁlszolsﬁsooooocw # &)
THH W T Ted 54,00,000 T E1 THY 1,00,000 T A F SO W =4 fHY |
IE WH 15-10-1979 ® WS W 2,00,000 F H WIS WA SH 1980-81 H 3R
2015-16 & R 80,000 &. 3 1,00,000 & FHoY: TG & YR § =7 R |
141981ﬁ3ﬁqu@3ooooos o X ¥ fowa gea w1 frefafe s wam
# fRar

0] 61-2017aﬁﬁwﬁﬁ@awaré\'qqmﬁraooooooa H @ﬂfri

(if) 1012017@%3@&%%3@&10000003 ﬁﬁmml
(i) TSHE TR ERURYE @ 1,00,000 . TF &R

Gv) o9 Ul oot G @ e § T @

31-3-1957 H FRAM, T& A T F IH IR 9@ TE ¥, "arﬁmmaﬁm

FY Wﬁr AT qv—.zm
1981-82 100
2015-16 | 1081

2016-17 : 1125
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(a) What is not a capital asset ? 4

(b)) X Ltd. owns a block of plant and machinery consistiﬂg of three machines M1, M2 and

M3. The following information is available in respect of this block :

-
(@)
(iif)

()
(v)

Rate of depreciation—15%
Written down value of block on 1-4-2016—Rs. 25,00,000

A new machine M4 was acquired for Rs. 9,00,000 on 18-4-2016 and was put
to use on 12-12-2016. -

Machine M1 was sold to a sérap dealer for Rs. 50,000 on 31-12-2016.
Machine M2 and M3 were sold for Rs. 18,00,000 on 10-2-2017.

Compute amount of depreciation available for previous year 2016-17 and written down

value of the block on 1-4-2017 and capital gains/loss if any. Ignore additional

depreciation. _ i
(a1) IS weaf o= T ¥ 2

() X ot wie iR weied @ u st fed d et §oM1, M2 3R M3 1 @
gl 39 =% & ey 4 freafafen e Stas § e

0]
(i)
(i)

(i)

)

formee T—15%
1-4-2016 1 =lh H Hedl g W W I 25,00,000 F. |

18-4-2016 1 TH T T M4 9,00,000 & T sfergda T s !
12-12-2016 ¥ 3I94m # fa=n

31-12-2016 %1 M1 #efH Hargt 1 50,000 & H &= T T |
10-2-2017 1 M2, M3 18,00,000 & # == |

i T 201617 F T o R # T FfE SR 142017 B R gL
qeg ¥ =dAlh 1 S50 I ey IR ISE oy @ o, a9 wE @, @ ew
7 23 gu SffEm fodrae #1 oM i

P.T.O.
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(b)
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Discuss the provisions regarding set off and carry forward of non-speculative business

loss. : : Pl 6

Explain the prdvisions relating to clubbing of income of a minor child under section
64(1A). < i 5

=

(a)w(set-off)ﬁ??ﬁmﬁﬁx—WWﬁgﬁﬁmmml"

(a)%mmam@a@awaﬁﬁm%sﬁﬁ%mﬁmmw

(a)
(b)

T ?
Or_
(3tram)
.Write a brief note on deduction_under section 80 GG in respect of rent paid. | 6

Explain the rheaning of “Agriculture’ on the basis of judgement delivered by supreme

court in the case of Raja-Benoy Kumar Sahas Roy. 5

'(N)WSOGG@@EﬁﬁW%wa‘?mﬁzﬁwﬁmaﬁaaﬂﬁm
() W%!dﬁfﬂ{l‘ﬂl fo a0 HHAN Hsﬁwaﬁﬁﬂh@mﬂﬁﬂ'{ ‘Y’ Waﬁaﬁﬁq

7764

3R auH ifera |

12 8.400
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Instructions for Candidates :

et » g FRY :
(a) Write your Roll No. on the top immediately
on receipt of this question paper.

gnﬁ—ﬁ%méﬁwmaﬁﬁwm
SErlichl

(b) Attempt all five questions. Question 1(a)
is mandatory for all. | .
g df Ui F B BT U 1(a) W B
forg ewf“ﬂam‘:% |

1. (a) New entrant Reliance Jio disrupted Indian
Telecom sector through its aggressive
pricing and offering of free calls for lifetime

to Indian customers. First it offered
unlimited data, calls and SMS totally free

P.T.O.
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“on all over India basis for 7 months and
after that it introduced cheapest data -

plans with free voice calls and SMS that
affected market leader Airtel and existing
players like Vodafone, Idea and BSNL's
market share and revenues badly. Airtel
responded by offering same data plans with
free calls to its customers to retain its

market share and to counter Jio onslaught.
There are four basic strategies namely

Stability strategy, Growth strategy,
Retrenchment strategy and Combination
strategy adopted by companies as per level
of competition and market share. . -8

gy M e § 92 JA9 W 9El

e e R § AT arest @y et

FHEY FET AR S & e Frges
HiAl B TEENd FH SFe} B ey B
B B gBw &Y TER o ETEr @ oiX

3 . HYOt W ¥ 9 e #
mﬁ

Frges & B a1 ok =R 9% T

R dEE HA AN THUATH I 9 qE

At e F g § B o) e

B g axE gk #X BT @R T oW

e W B ST B B T Bidl & Gy
2 _

- 7765

AT BT O S g # R =
€ g% R B9 § 9% oA 1 e
T T | AR B TR SR a9 § e
B SIgER HUtEl B e T 9] ge
orfedl B oTgETaT A Rerer R,
gl i i, Bt # PHIR iR 999
I IR |

‘(i) Which strategy Airtel is adopting in
" current scenario and why ?

C Ao oRexd & e Ree oW @
L. 9T @ S H|r v

(i1} As a.Marketing manager of Airtel

o . which strategies you would like to

-+ adopt in future to remain market
- ~leader in Indian telecom sector ?

O gRE & Rove gdes & ®9 § AN

. I 9EE Bein Qe # Srome-aa

w7

(b What is Environmental Analysis and

Diagnosis ? Explain the main techniques

. of analyzing and diagnosing the

environment. 7

qateer RsANer o Pt wmr & 7 gaterer
Tehipl @ rEar it | |
3 PT O,
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(a)

(b)

OR
HAYan .
Explain various types of intensive growth

strategies, pointing out their advantages
and limitations.

AR g o Tew gl ToFIaar H e
e AR I Al IR el B gy |

"Management is the force which leads,
guides and directs an organization in the
accomplishment of predetermined
objectives". Discuss this statement and
give a suitable definition of management.

8

USE UF UET 99 & ON oA Hi B ¥ W
qrfeet e T Fider 2T iR SRt
% freaes § 9p7 3ar ® 1 59 HUA B [{asen
Fvmm ol gey @1 Iuga qiRwmeT S|

"Contingency approach to management is

a common sense approach". Comment.
7

‘IS BT STgNifTE SUFTH G 3R SN
B feool #iftm

4

(a)

(b)

(a)

7765

OR

HeEEqr

What trends do you forecast in the future
environment of business ? Describe the
challenges and tasks these trends are
likely to create for managers. 8

SqEE $ A qErERer § o9 e ugid @
g R ¥ 7 3 vgfcadl geesnl & fag
e gl ok @ S BT G €

ST g HII |

Michacl E. porter redefined the scope of
competition through five forces analysis.
Explain this framework through supportive

example from any Indian industry/sector.
7

e £ U 9 U 9 g faeawer @
wiw ufereqdt & @t H® gAERer fEEr T
=H erg @ grean [HEl 9 A SRt /Aae]
¥ gHLAHE IEEOT B HIIT |

What is Matrix Organization ? In what types
of organization it is suitable ? Explain its
merits and demerits. 8

Apaa e Fu1 ST T ? BRE UER @
W # 98 IugE o & ¢ 3Ee O SR
Yl B T HIY |

S P.T.O.
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(b) Write notes on following :
Fr=feiaa o fewferr ffag -
(i) Span of memmmamuﬁ 4
weE FH B

(ii) Delegation Vs Decentralisation

TS g9 feRsinTor
OR
Fear

(a) What are the causes of emergence of
informal groups ? How should a maridger

handle these groups ? 8
SA=IRE g B ogm & Fn wRr ¥ 7
ﬁ%ﬂﬂﬁﬁﬁﬁﬂmﬁﬂ%.
(b) Write notes on following : . il

| FrffEs o feafrt ffe - GaLy

(i) w_.o._no" Organisation <m Matrix

mewnpmmﬁob 4
:5 vEH_QEow of organizing 3

ﬂmﬁ_ﬂwﬁﬂa

4. Write notes on any three of the following :

5x3

Fraffes & @ B W w RewPrt Rifag -

(i) Horizontal Vs Vertical Integration
- AR W FE Hee
(ii) Recruitment Vs Selection

W FE =59
(iii) Herzberg's two factor theory of motivation

AR T w2 BN i
(iv) Situational leadership theory.

Reafore g Resia

CR
YT

(a) Distinguish between transactional
leadership and transformational
leadership. Which of them would you
recommend for Indian conditions ?

8
LR AT wufETeTeE ¥ ofaT
mﬂﬂn.gﬂﬂ%ﬁﬁa@ﬂﬂ@nwmﬂﬂﬁm@
e Rrifer 47 ?

(b) What are barriers to effective
communication ? How can these barriers
be overcome ? -7

THET HEIX B SGAGF R & P = gt
F BE T B o wHw R 7

7 : PO,
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5.

(a) Why do employees resist control in
organizations ? How can management

- make controls more acceptable to
employees ? 8

FHRT & 5 e § wEmd R
ﬁﬁaaﬂ%%?wmwwaﬁﬁ%
T = o et et g g ¥ 7

(b) What do you understand by the term
“Market Value Added" ? How MVA
technique of control is different from EVA
technique ? 7

agsrﬁrf%m (MVA) s/<&f @ o9 47
FEoT @B MVA T+ Bre o
EVAaaa—vﬁ?sﬁﬁa%?

OR
HEGT

Write notes on any three of the following :
5x3

(i) Return on Investment (ROI)
Fasr 9X gfess (RO
(ii) Distinction between MIS and DSS
Tq STE T Y & oy uwy § &%
(iii) Likert's Scale theory.
e AT Ry

(iv) Distinction between Formal and Informal
Communication.

gt ot FHERE H@EK # ofa}
8 8400



